Lesson 5 — Quiz Questions

'

Responder’s New suit Bids & Openers Rebids with
& without out a suit FIT

1 What is the Rule of 14 and when is it used?

2 Your partner opens 1¥. What do you tell your partner by the following bids?

a) 29
b) 1 NT
c) 39
d 14
e) 24

3 The opening bid is 1¥. Is Responder’s bid shown forcing? This means that the bid
cannot be passed. Opener must bid again.

Opener Responder
a) 1e 3v
b) 1e 14
c) 1e 2NT
d) 4 24

4 Your partner opens 1 ®. What do you respond with the following hands?

a)a AJ976 b)s Q98 c) # AK6 d) 4 Q65
v 384 v92 vg7 vs
*2 ¢ KJ543 ¢ AK78 ¢ KQ8754
*AJ843 *KT2 +A964 +T43

SBU - Lesson 5 - Responder’s New Suit Bids and Opener’s Rebids - Quiz Questions 1



e)AJ976 fya Q9 g) 4 TO h)a J97

v 843 v9 v - v 843
¢ 2 ¢ KJ543 ¢ AQT7532 ¢ AK
s AJ843 * AQ765 *J964 & AJ872
5 What does Responder know about Opener’s hand after these bidding sequences?
Opener Responder
a) 1v 14
INT
b) 1v 14
2NT
c) 1v 2%
2NT

6 a) What do you open with this dreaded 4,4,4,1 hand?

4 AK43
v 7
¢JT76
 AQTH6
14 HCP

b) What is your planned rebid?

7 A bid of 2% over an opening bid of 14 can only be done with 5 + cards in hearts.
Can you think why?

8 What is the difference between and Limit Bid and Unlimited Bid?
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